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ANSWERS / RUBRICS

Question No: 11

a ). The price of 25 Kg sugar is Rs 3250. What will be the price of 1 Kg sugar? (5 Marks)

(A58 i = S5 1K1 325028 S5 1./ 605

Price of 25Kg Sugar= Rs 3250 é%'d/dtgr’/!g25=3250i,—ﬂ
Price of 1Kg Sugar=3250 = 25 (2 Marks) ;,éJujfru/,Kl =3250 + 25(+2)
= Rs 130 (3 Mark) =130<’_U(/3)

Construct an angle of 90° by using protractor. (5 Marks)
(/5)-():/['/.7;;!){9004;)» u(}..{/}’:/?
S

Rubrics:

o On drawing ray by using ruler. (1 mark) 4$/CW“VQLJAJL§.O(/1)
o On marking point at 90° by using protractor. (2 marks) £ BEEI00 s u S A s 0(#2)
o On correct completion of angle. (2 marks) ) /J”(“u/:d/a_;l;b(/z)

Question No: 12

a ) Identify the given quadrilateral and describe its two properties. (5 Mark)

[\

(/5)@/})9..:&:#»Ju'muf‘i(tt{/fgfd)

NSy

Rubrics:

Name=Trapezium. (1 Mark) (A1 Bs=pt
Properties: el
A trapezium has only one pair of parallel sides. (2 Marks) (/:22)-Ll.“ndjii”iii.ﬂd/b@w!uf.‘fziju'

Sum of interior angles of trapezium is 360°. (2 Marks) (/2) - 360° ﬁKuM‘& o
72)-c Uy P TS ZIVS LV D1

Draw a triangle ABC in which, AB = 5c¢m, /B = 55° and ZA = 45°. (5 Marks)
(#5)_st/ A= 45°11 /B = 55°%AB = 525 Ut 2 Ut ABCads (]


https://pecassessment.com/admin/pilot_items/pilot_view_combine/11357
https://pecassessment.com/admin/pilot_items/pilot_view_combine/8173

Rubris:
On drawing line AB = 5cm with the help of ruler. (1 mark)

S

On drawing angle 45° on point A with the help of protractor. (1 (/1)_/,:$/AB = 5}&?”’»’,&4!4;»«:@@
Mark) (/7’/1)/,:5;';,:50450/,: AL sa J}g/b;/.:
On drawing angle 55° on point B with the help of protractor. (1 (/1)/335055"/ B sa J}gj’/

Mark . . %
ark) (/2)44,/&/}!&5:.«’/}

On correct completion and labeling. (2 Marks)
Question No: 13

a ) Arectangular pool is 9 metre long and 6.8 metre wide. Find the perimeter of the pool. ( 5 marks)

(E8)- oo Solb e 2680158 290U e

Perimeter of the pool=2(¢ + w) 3(”{%%':2(&9}*&'{’3)
=2(9+6.8) (1mark) =2(9+6.8).....C~1)
=2 x 15.8 (2 marks) =2 % 15.8....(#2)

=31.6m (2 marks) =31.64...(#2)

The length and width of a rectangular book is 20 cm and 15 cm respectively. Find the area of the book. (5 marks)

(/5)_%/()"‘,}'/{?(;(_%}.?@715151/’3.?("5?2()%‘;@&&%/,1&@,)J_.,C(&val

Area of rectangle=length x width J/KJ.V=GH><L}13;?:
Area of book = 20cm x 15cm (2marks) J/K.OJCJ/=2O}5C’5'5/>< 15455 (#2)

— 2 - b oo b y
Area of book =300cm” (3 marks) J/K?W=300/{U"‘&/(/:‘3)


https://pecassessment.com/admin/pilot_items/pilot_view_combine/6242



